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1a)  A 10-kg box is held against a spring which is compressed 2.0 m as shown on 
top of an incline which is 4.0 m (H1).  Find the minimum spring constant (k) so 
that the box just makes it to the top of the 8.0 m (H2) high second incline. 
Note: all surfaces are frictionless except the crosshatched surface where d = 20 m 
and has a coefficient of friction of 0.20. 
 
 
 
 
 
 
 
 
 

 
2b] A 10-kg box is held against a spring which is compressed 2.0 m as shown on 
top of an incline which is 4.0 m (H1).  Find the minimum spring constant (k) so 
that the box just makes it to the top of the 8.0 m (H2) high second incline. 
Note: all surfaces are frictionless except the crosshatched surface where d = 20 m 
and has a coefficient of friction of 0.2 and the incline where µ = 0.20. 
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d 53.13° 
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1] 400 N/m 
2] 460 N/m 
 


